Portfolio Reflection #4 - Multiplying

Binomials

Multiplying binomials is very complicated.
Multiplying two binomials is a type of distribution

that has two possible outcomes. For example, 2x+5 is . 7 10

a binomial, and when you multiply that by 4x-3 you ‘ \ L

get 8x2+14x-15. Since like math a lot, | thought this g \‘C} 2
exercise, even though | can’t think of a real life '

situation in which you would use multiplying 18 g,fx,‘, 1 ﬁf@i@
binomials, was interesting. | like a challenging ! S P —@ﬁ;%
question, and this is definitely challenging. It also ENERESE it S
shows more than two different subjects; N ‘ - T =2 3
multiplication, and combining like terms are a few ' ”' T : ‘ ' ”L-L ':
that come to mind. As you can see, here are some | . HF T C

reasons why | chose this piece as a part of this
portFolio.

e Represents two different subjects




